page 1 of 74

Peakarea normalization

— Processed: 2023-02-02 07:44:49

— Input file: 20230126 _LN478 AS_CTRL_GBA_DB_Li_13cGlc_only_conc.rep.norm.xlsx
— Number of replicates: 2

— Number of metabolites: 66

- Reference sample: CTRL

- PCV: Available
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Log Area
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Sample correlation plot
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PCA - PC1vs PC2

5.0 1
o
2.5
o
[ _ )
o 0.04
O
a
2541 @
=5.0 1
T T T T
-10 -5 0 5
PC1

@ 13cclc_DB_GBA1 @ 13cGlc_DB_GBA3 @ 13cGlc_LI_GBA2
@ 13cclc_DB_GBA2 @ 13cGlc_LI_GBAL @ 13cGlc_LI_GBA3




PC4

page 74 of 74

PCA - PC3 vs PC4
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